Test Bank Questions for Chapter 1

MULTIPLE CHOICE.  Circle the letter that provides the BEST answer for each question.  There is only one correct answer for each question.  
  1.  The interdisciplinary study of how humanity affects other organisms and the abiotic environment is termed:

   A.  ecology.

   B.  sociology.

   C.  political science.

   D.  risk analysis.

   E.  environmental science.

  2.  Pollution can be defined as:

   A.  any alteration of the physical environment that harms the health or survival of humans and
other living organisms.

   B.  the reconstruction of natural habitats.

   C.  over-harvesting plants and animals for human consumption.

   D.  any chemical that binds to an organism's endocrine receptors.

   E.  None of the above

  3.  The ability of the environment to function indefinitely without declining from the stresses imposed by human activities is called: 

   A.  ecology.

   B.  environmental sustainability.

   C.  natural balance.

   D.  synergism.

   E.  environmental science.

  4.  Examples of non-sustainable human activities or behaviors include:

   A.  green architecture.

   B.  attempts to limit human population growth.

   C.  careful use of renewable resources.

   D.  use of nonrenewable resources as if they were present in unlimited quantities.

   E.  risk analysis.

  5.  The central problem of environmental science that links all other problems together is that: 

   A.  we are using up our supplies of fossil fuels.

   B.  we are polluting the environment.

   C.  we are using too much fresh water.

   D.  human numbers continue to grow.

   E.  we are depleting needed resources.

6.  When the interaction of two or more pollutants results in a combined effect more severe than the sum of their individual effects this phenomenon is called:

   A.  risk.

   B.  endocrine disruption.

   C.  antagonism.

   D.  synergism.

   E.  symbiosis.

7.  A population that is designated as "commercially extinct":

   A.  can no longer be found in a designated region but may be found elsewhere.

   B.  has a population size that is so low that it is unprofitable to harvest.

   C.  actually went extinct years before.

   D.  is no longer popular with consumers and is therefore no longer harvested.

   E.  is extinct as a result of the introduction of an exotic species.

8.  The laying of eggs in the nests of one bird species another bird species is termed: 

   A.  nest parasitism.

   B.  nest adoption.

   C.  nest robbing.

   D.  nest kidnapping.

   E.  reproductive mutualism.

9.  An organism accidentally introduced into the Great Lakes in the mid-1980s that has caused extensive damage is the: 

   A.  razor clam.

   B.  comb jelly.

   C.  stickleback fish.

   D.  zebra mussel.

   E.  snapping turtle.

10.  Introduction of exotic species to new aquatic habitats often occurs via:

   A.  discharge of ballast water.

   B.  aquaculture.

   C.  import of marine and freshwater species for consumption.

   D.  export of marine and freshwater species for consumption.

   E.  discharge of treated sewage into natural bodies of water.

11. CFCs are: 

   A.  chlorofluorocarbons.

   B.  chemicals used as aerosol propellants in spray cans.

   C.  chemicals used in air conditioners.

   D.  chemicals that deplete the naturally occurring ozone layer in the atmosphere.

   E.  All of the above

12.  Which of the following is NOT a cause of increased CO2 in the atmosphere? 

   A.  burning of coal, oil, and natural gas

   B.  deforestation

   C.  acid precipitation

   D.  burning of forests by farmers

   E.  C and D

13.  Tropical rain forests are typically cleared and burned:

   A.  to efficiently harvest all of the available resources.

   B.  to provide an improved habitat for wildlife.

   C.  to provide lumber and firewood.

   D.  to provide land needed for agriculture.

   E.  C and D

14.  Destruction of tropical rain forests may:

   A.  contribute to global warming.

   B.  result in streams clogged with sediment.

   C.  limit the quantity and quality of drinking water.

   D.  hasten the decline of biodiversity.

   E.  All of the above

15.  In           ?          , two or more pollutants interact in such a way that their combined effects are more severe than the sum of their individual effects.

   A.  antagonism

   B.  endocrine disruption

   C.  synergism

   D.  pollution

   E.  bio-prospecting

